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@ Part one: Vocabulary
Directions: Complete the following sentences by choosing the best answer.

121 = To solve a problem creatively, you must .......... . the first option that comes to the mind to let
more ncw ideas evolve,
a) accelerate b) enumerate c) aggravate —d) " dismiss

' ’122-These improvements could complement and even ........... the bencefits of drugs that help with

the symptoms of dementia.
a) impede b) restrict c) enhance d) mitigate

123 _ Some argue that a woman should have the right to terminate her pregnancy at any time, up to

the point where the fetus is ........ « and fully formed,
a) verifiable b) viable c) credible d) amiable

'i24- Some industrial workplaces are approved for their ........... safety principles, while others are
closed down.

~ a) adherence to b) negligence of ¢) ignorance of d) violation of
./
125 In their study, the authors tried to ........... the concept of educational scholarship to have a
better understanding of its meaning.
a) explore b) expedite c) exclaim d) exploit

126 —. Children with attention deficit disorder are known to have an extremely low boredom ............

a) extension b) obsession ¢) integrity d) threshold

4
4

127 — There was a great ........... among the physicians as a result of their new treatment which
significantly decreased infectious diseases.
a) negligence b) satisfaction c) ignorance d) vulnerability

128 . Family physicians’ advice is that normal people should ........... visit a doctor at specific
intervals for checkups which can help the early diagnosis of some discases.
, @) gradually b) intentionally ¢) periodically d) progressively

129 _ Heart-related diseases are closely ........... the accumulation of fat in arteries and smoking.

a) associated with
b) contradicted with
‘ c) encountered by
l d) divided by
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130 — Puin-Killers ...cceeesss nATcotics to remove or reduce the patient's pain.

n) exhibit b) exhaust c) cncompass d) cnervate

131 — The professor encournged the students 10w the incorporation of creative ideas,

a) conflict with b) putout ¢) giveup d) inquire about

132 — The patient has contracted the current virus, but the .....eee.ee 0F his condition is not gloomy; he
will get better after a course of two months. '
a) prognosis b) paralysis ¢) dispersion d) inversion

153 - During the COVID-19 pandcemic, it was necessury for the government {0 ........... the preventive
measures.

a) hinder b) intensify c) neglect d) disperse

" ”134 — The scientific rescarch team worked on the ........... of the disease in poor arcas,

a) affluence b) clicitation ¢) provision d) prevalence

135 - The treatment lasted four hours during which the patient experienced ........... , talking to
people who had died.

/ a) intimidation b) condemnation ¢) hallucinations d) asscrtion

’136 — The issue of euthanasia is generally not well understood and has often been subject to public

a) reputation b) misperception ¢)/ constitution d) malformation

137 . The old patient looked sick and ........... and had to be looked after by a nurse.

a) pallid b) intrepid c) vigorous d) vivacious

138 . The chest x-ray showed that a broken rib had ........... the patient’s lung.

a) suffocated b) lubricated ¢) resuscitated d) perforated

I

’.

v \ |

439 — When we told the woman that her father was dead, she coveeenene. and was transferred to a ncarby |
hospital for further caring.

a) passed out b) pulled back c) pushed over d) passed away

'140 = Mucous membrane is a thin layer of soft skin which ........... the inside of the nose and mouth to
prevent them from becoming dry. ik

. .‘ .}
a) lines b) leads ¢) secdates (\‘f.. . Segregates

A
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M Part two: Reading Comprehension

Directions: Read the following passages carefully. Each passage is followed by some questions.
Complete the questions with the most suituble words or phrases (a, b, ¢, or d). Base your answers
on the information given in the passage only.

Passage 1

Dental erosion is clinically defined as “the progressive and irreversible loss of dental hard tissue caused by a
chemical process of acid dissolution that does not involve bacteria™, While agjd reflux and some medications
can contribute to erosive tooth wear, the most significant source of acid for tooth erosion is the diet.
Specifically, frequency of consumption, pattens of consumption and time in contact with acidic food or
beverage influence erosive tooth wear. However, pH alone is not the only factor affecting how crosive a food
or beverage may be. The pH and buficring capacity collectively determine how crosive a food or beverage is.
Yogurt, for example, has a pH of about 4.0, but is not considered erosive due to its high calcium content,
which acts as a buffer. Dental crosion may also be caused by intrinsic factors, such as stomach acid in those
with reflux disease or individuals.who vomit frequently. Compared to erosion caused by extrinsic factors
which commonly affect the facial and occlusal surfaces of tecth, erosion caused by gastric acid primarily
occurs.on the palatal and occlusal surfaces of the anterior maxillary teeth.

141 = According to the passage, erosive tooth wear is mainly attributed (0 ........

a) diet

b) acid reflux

¢) drugs

d) extrinsic factors

142 - In the clinical definition of dental erosion, ........ is NOT considered as the contributory factor.

a) gastric acid

b). Eating habits

¢) bactenal factors
N d) Prescription drugs

143 - According to the passage, ......... is NOT considered as an _inﬂucnlinl factor in tooth erosion.

a) exposure to erosive agents

b) one’s eating habits

¢) acidic beverages

d) buffering capacity of the teeth

144:.. Which of the following statements is FALSE about erosive tooth wear?

a) The reason behind tooth surface loss is usually multi-factorial.

b) Itis achemical process that results in a permanent tooth substance loss.
c) As yogurt isrichin calcium, it docs not cause tooth erosion,

d) Dissolution of dental hard tissue results from acids containing bacteria.

- —

145 . Regarding the intrinsic and extrinsic factors, it is inferred that ............

a) the latter can be grouped under the heading of diet and lifestyle

b) the former is more problematic than the latter due 1o its internal nature
¢) intrinsic factors can lead to erosion of the facial surfaces of teeth

d) both intrinsic and extrinsic factors equally cause erosive tooth wear

o 14
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Passage 2

Health is the general condition of a person’s mind, body, and spirit, us}:a!ly meaning (o be free from jllncss.
injury, or pain. The World Health Organization (WHO) defined health in its broader sense in 1946 as "a state
of complete physical, mental, and social well-being and not merely the absence of discase or infirmity.
Generally, the context in which an individual lives is of great importance on health status and quality of life.
It is increasingly recognized that health is maintained and improvcd.nol ot}ly through .lhc advance.m;:m. and
application of health science, but also through the efforts and intelligent l.ufcstylc choxccs.of the mdmdt‘ul
and society. According to the World Health Organization, the main dclcnm‘nal.us p{' health mcludc.th.e social
and economic environment, the physical environment, and the person’s mdmdua} c!\aractcnsucs and
behaviors. In fact, an increasing number of studics and reports from qm'ercnl organizations and contexts

examine the linkages between health and different factors, including lifestyles, environments, health care

organization, and health policy. Focusing more on lifestyle issues and their rcla}nonshngs with functional

health, data from different studies suggested that people can improve thclr‘heallh via exercise, enough sleep,

maintaining healthy body weight, limiting alcohol use and avoiding smoking. In addition 10 that, the ability
{o,4dapt and to self-manage have been suggested as core components of human health.

146 — The definition of general health encompasses woveernen

a) desired physical comfort

b) lack of infirmity or disease

¢) amulti-dimensional well-being
d) existence of no mental problem

147 - Lifestyle choices are considered to be a ........... aspect of health maintenance along with health
science advancement,

a) complementary
b) contradictory
c) mandatory

d) regulatory

148 Z According to the passage, ..........s.. in maintaining health status,

a) physical activity is more important than socio-economic factors
b) intelligent lifestyle does not support health sciences

¢) individuals’ behavior has the important role

d) self-management ability has an important role

149 . The findings of many studies have highlighted the association between ........... health.

a) self-satisfaction and general
b) mental peace and physical
c) lifestyle and functional

d) nutrition and mental

150 — The passage takes a(n) ......... . standpoint towards the definition, maintenance and
improvement of general health.
a) unresolved
b) comprehensive
c) conservative
d) inconclusive
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To ensure that people everywhere have access to essential serv
for 80 extroordinary scale-up of intermational sy
the UN COVID-19 Response and Recov

and vulnerable groups who are dispropo

ices and social protection, the 1N has called
_support and political commitment, including funding through
cry Fund which aims to support low- and middle-income countrics
rtionately bearing the socio-economic impacts of the pandemic.

This time of crisis must also be used as a CI.la'ncc to invest in policics and institutions that can tumn the tide on |
inequality. Leveraging @ moment when policies and social norms may be more mallcable than during normal

times. bold steps }M‘ address the incqualities that this crisis has laid bare can steer the world back on track
\owards the Sustainable Development.

151 = The text considers the way COVID-19 is managed as w/an ............. regarding how successful

we have been in reducing incquity among countrics.
a) suggested yardstick ’
b) invalid measure
¢) imaginary platform
d) customary method

152 . The UN Secretary-General's call for solidarity implies ............. in combating COVID-19.
a) localized cooperation
b) rich countries’ tendency
¢) lack of global equity
d) sufficient resources

153 - The second paragraph .....cccoveee aid delivery to countries in need.

a) implicitly denies recent attention paid to
b) underestimates the significance of

¢) highlights the need for

d) fails to recognize the value of

distribute health resources reasonably.
a) risky challenge
b) disappointing occurrence
c) frequent recurring incidence
d) .suitable opportunity

155 . The text implicitly views COVID-19 as a palieulc vssessnssnsss Allocation of health resources and
facilitics globally.
8) revealing uneven
b) providing proper
€) indicating sufficient

d) appreciating appropriate

n
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Passage 4

Some scientists believe that each perspn has a happiness set point influenced by bo{h genetic and
environmental factors. They also claim that a large part of a person's well- being is under his or her direct
control and that happiness is a skill that can be learned. Through studying people who describe themselves
as happy and engaged in life versus those who report feelings of depression and anxicty, neuroscientists have
managed to pinpoint brain regions that exhibit corresponding activity. One study found that increased activity.
inithe lefi side of the prefrontal cortex relates to a positive frame of mind, whereas heightened activity in the
right side of the prefrontal cortex coincides with negative emotional states. In the case of happiness, the
neurotransmitter dopamine relays information from the limbic system to the prefrontal cortex, and
individuals with more sensitive dopamine receptors tend to be more cheerful. Some studies have shown that
life circumstances such as winning the lottery or losing a partner do not permanently ‘alter a person'’s
fundamental temperament. Instead, individuals tend to retumn to their happiness baseline after the novelty of
the event has womn off.

’

156 — According to the scientific studies on happiness, .......ouu .

a) individuals fail to have any responsibility for their moods
b) a person's happiness is partly determined through nurture
c¢) genetics has a more important role than environment in determining happiness
Y * d) regions of the brain responsible for happiness and depression are yet to be discovered

-

157~ According to this passage, the person usually ........... his/her happiness set point after leaving

behind extreme experiences.

a) abandons

b) overestimates
¢) undermines
d) regains

l.‘qﬂ'-. According to the passage, activity in the ........... of the brain could induce positive senses and

e ——

feelings.
a) corresponding central brain regions
b) baseline of the limbic system
¢) left side of the prefrontal cortex
d) right side of the prefrontal cortex

| 159 _ It is said that there are some scientists who belicve_l_ng[_)p_i_llgss I ceannnenncs’s

a) an acquired skill

b) essentially a genetic tendency

¢) fundamentally a physical process
d) an environmental phenomenon

160 — According to this passage, one’s basic temperament tends 10 ovvvnnnnen s

a) have no role in one’s feeling of happiness

b) be steadily altered by adverse life experiences
¢) be affected temporarily by life circumstances

d) have a deep influence on his/her mental abilitics

_ Y - __ = . = Aiaanar




